
Vocab Misc Questions Overview
Vocab Misc Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is

similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Vocab Misc Questions.

Question
In the question below, a word is given followed by three sentences. Find out the sentences in which the given word suits

the best. If none of the sentences look appropriate as per the word, mark your answer as "All are correct". AMBIGUITY I.

Where the words are not clear, other factors can be taken into account to resolve the ambiguity. II. Amanda had the

ambiguity to show up to the party, despite the fact that she was not invited. III. Speakers of English were asked to judge

the ambiguity of the grammar.

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. Only II

2. Only III

3. Both I and II

4. Both I and III

5. All are correct

Solution
The correct answer is Option 4 i.e. Both I and III.

Concept/Grammar
Rules

Applications
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The given question

suggests finding the

appropriate word-

sentence match i.e.

to find if the word

suits the particular

sentence.

The word "ambiguity"

means ''the
possibility of being
understood in more
than one way;
something that can
be understood in
more than one way'.

In this

regard, sentences I

and III seem to be

coherent with the

word and its influence

in the sentence.

Sentence II does not

fit with the highlighted

word as the

sentence's tone is

different from the

word, the more

suitable word is "

audacity" which

means 'courage or

confidence of a kind

that other people find

shocking or rude'.

Hence, the correct

answer is Option 4 
i.e. Both I and III.
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